ABSTRACT OF OFFERS - CONSTRUCTION		1. SOLIC	NUM NOITATIC	BER	2. DATE ISSUED		DATE OPENED	PAGE 1 OF 4		
			-13-B-0013		11-Apr-13		24-May-13			
4. ISSUING OFFICE					Name and title	of Certifying Official (Type)			
US Army Corps of Engineers, Phila			Y that I have on	ened, read, and	Joseph T. Bujr			1 1		
Wanamaker Building, Room 643			on this abstract		Signature	ew Bryon 2:	Date Signed 4	5/30/2013		
100 Penn Square East		in response to t				Bate eighed =				
Philadelphia, PA 19107-3390		10001100	iii reepenee to t	ino cononadori.		1		·		
5. PROJECT TITLE				-	9. OFFERS					
		8. (SOVERNMENT ES	STIMATE	NO.: 1	(LB)	NO.: 2 (LB)			
FLOOD CONTROL & COASTAL EMERGENCY REPAIR, HEREFORD			k A, B or C and co	mplete D, E, and F.)	A. OFFEROR		A. OFFEROR			
SEAWALL REPAIR, CAPE MAY COUNTY, NEW JERSEY					J.H. Reid Gene	eral Contractor	Agate Construction Company, Inc. 1030 Route 83 Clermont, NJ 08210			
			A. HIRED LAB	OR	3230 Hamilton					
					South Plainfield					
		B. REASONABLE CONTRACT B. I				B. Bid Security (Type and Amount)		B. Bid Security (Type and Amount)		
					BID BOND 209		BID BOND 20%			
6. NUMBER OF AMENDMENTS ISSUED		C. REASONABLE CONTRACT				t Acknowledged				
0001, 0002, 0003 & 0004					YES		C. Amendment Acknowledged YES			
7A. 7B.	7C.	D.	E. F.		E.	F.	E. F.			
ITEM DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED		
No.	QUANTITY	01111	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT		
BASE BID	SCOMMITT		TAIGE	MINOOM	FRICE	AWOUNT	FRICE	AWOUNT		
1 Mobilization & Demobilization	4	JOB	LS	\$865,000.00	LS	¢175 000 00	, ,	6467 000 00		
THOUSALERION & DOMODINEARON	'	305	[\$000,000.00	[3	\$175,000.00	LS	\$467,000.00		
2 Stone - Filled (SF) Marine Mattress	3,371	S.Y.	\$225.00	\$758,475.00	\$172.00	\$579,812.00	\$220.00	\$741,620.00		
			·	,	, , ,	, ,		**		
3 2 - Ton Capstone	1,850	TON	\$263.00	\$486,550.00	\$110.00	\$203,500.00	\$100.00	\$185,000.00		
4 Stone Fill	8,290	TON	\$201.00	\$1,666,290.00	\$92.00	\$762,680.00	\$80.00	\$663,200.00		
5 Structures Monitoring	1	JOB	LS	\$50,278.00	LS	\$50,000.00	LS	\$35,000.00		
TOTAL ESTIMATED BID AMOUNT:			ļ	\$3,826,593.00		\$1,770,992.00		\$2,091,820.00		
TO THE PROPERTY CONTRACTOR OF THE PROPERTY OF		j								
· · · · · · · · · · · · · · · · · · ·					-					
					·]					
· ·										
					<u> </u>					
		<u>l.</u>			<u></u>					

ABSTRACT OF OFFERS CONSTRUCTION CONTINUATION SHEET

1. SOLICITATION NUMBER W912BU-13-B-0013

PAGE 2 OF 4

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed.

2. PROJECT T	TITLE :	00 h 2 h 2 h 2 h 2 h 2 h 2 h 2 h 2 h 2 h	I	Continuation Sheets (C	7 14 19A) as 1	leeded.	OFFERS (Co	ntinued)			
The second secon			NO.: 3	(LB)	NO.: 4	(LB)	•	(LB)	NO.: 6	NO.: 6 (LB)	
FLOOD CONT	ROL & COAST	AL	A. OFFEROR		A. OFFEROR		A. OFFEROR		A. OFFEROFRichard E. Pierson		
EMERGENCY REPAIR, HEREFORD			South State, I			e, Incorporated		cting, Incorporated	Construction Company, Inc.		
SEAWALL REPAIR			Reeves Road		Drive, Suite 102	210 Gilbert Av		426 Swedesboro Road			
And the state of t			Bridgeton, NJ	-	Chesapeake,		Pearl River, N		Pilesgrove, NJ 08098		
Section of the sectio							B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		
			BID BOND 20				BID BOND 20%		BID BOND 20%		
	ONTRACT ITE						C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED		
A.	В.	C.	YES				YES		YES		
ITEM	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED		E. ESTIMATED	D. UNIT	E. ESTIMATED	
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT	
BASE BID	5,570,1111		1 1110	,	11102	7 1110 0171		7(1100111	1 1102	AMOONT	
. 1	1	JOB	LS	\$635,000.00	LS	\$585,000.00	LS	\$400,000.00	LS	\$1,000,000.00	
2	3,371	S.Y.	\$152.00	\$512,392.00	\$255.00	\$859,605.00	\$225.00	\$758,475.00	\$180.00	\$606,780.00	
3	1,850	TON	\$118.00	\$218,300.00	\$145.00	\$268,250.00	\$250.00	\$462,500.00	\$110.00	\$203,500.00	
4	8,290	TON	\$92.00	\$762,680.00	\$107.00	\$887,030.00	\$150.00	\$1,243,500.00	\$135.00	\$1,119,150.00	
5	1	JOB	LS	\$45,000.00	LS	\$63,250.00	LS	\$20,000.00	LS	\$10,000.00	
TOTAL EST.				\$2,173,372.00		\$2,663,135.00		\$2,884,475.00		\$2,939,430.00	
BASE BID	1			•		+	1 .				
AMOUNT:											
									·		
											
								****	-		
								-			
					1				l		

ABSTRACT OF OFFERS CONSTRUCTION CONTINUATION SHEET

1. SOLICITATION NUMBER W912BU-13-B-0013 PAGE 3 OF 4

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed.

2. PROJECT T	ITLE	00 000 1 000 000 0 10 00 000 000 000 1 0 0 0 0 1	į	CONTRACTION CONCESS (C			OFFERS (Co	ntinued)		
			NO.: 7	(LB)	NO.: 8	(LB)		(LB)	NO.: 10 (SB)	
FLOOD CONT	ROL & COAST	AL.	A. OFFEROR			A.P. Construction, Inc.,	A. OFFEROR		A. OFFEROR	
EMERGENCY	REPAIR, HER	EFORD	Lindstrom Exc	cavating Contractors,	Navy Yard Corporate Center		W.F. Magann	Corporation	Neelam Construction Corp.	
SEAWALL REPAIR		Inc./25820 Sti	Il Pond Neck Road	One Cresent Drive, Suite 104		3220 Mariner Avenue		163 A Paris Avenue		
A 1 major page 2 management and a contract of the contract of			Worton, MD 2	21678			Portsmouth, VA 23703		Northvale, NJ 07647	
Note that the control of the control							B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)	
CONTINUED						BID BOND 20%		BID BOND 20%		
3. CONTRACT ITEMS						C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED		
Α.	B.	C.	YES				YES		YES	
ITEM	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT E. ESTIMATED		E. ESTIMATED		D. UNIT	E. ESTIMATED
NO.	QUANTITY	<u> </u>	PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT
BASE BID				7 1110 0111	102	74110-0111		741100111	1100	7 (1100111
1	1	JOB	LS	\$780,000.00	LS	\$1,300,000.00	LS	\$1,057,143.00	LS	\$575,500.00
2	3,371	S.Y.	\$192.00	\$647,232.00	\$250.00	\$842,750.00	\$337.00	\$1,136,027.00	\$0.00	\$1,479,869.00
3	1,850	TON	\$200.00	\$370,000.00	\$200.00	\$370,000.00	\$175.00	\$323,750.00	\$0.00	\$1,396,750.00
. 4	8,290	TON	\$190.00	,\$1,575,100.00	\$150.00	\$1,243,500.00	\$152.00	\$1,260,080.00	\$0.00	\$1,367,850.00
5	1	JOB	LS	\$50,000.00	LS	\$50,000.00	LS	\$100,000.00	LS	\$75,000.00
TOTAL EST.				\$3,422,332.00		\$3,806,250.00		\$3,877,000.00		\$4,894,969.00
BASE BID AMOUNT:										·
					·					
						,				
	·					·				
		<u> </u>								÷

ABSTRACT OF OFFERS CONSTRUCTION **CONTINUATION SHEET**

1. SOLICITATION NUMBER W912BU-13-B-0013

PAGE 4 OF 4

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed.

2. PROJECT T	ITLE			Continuation Sheets (C	11 14 15A) as 1	ieeueu.	OFFERS (Co	ntinued)		
The second secon			NO.: 11 (LB)		NO.: 12		NO.: 13		NO.: 14	
FLOOD CONTROL & COASTAL				A. OFFEROR		A. OFFEROR		A. OFFEROR		
EMERGENCY REPAIR, HEREFORD		Walters Marine Construction, Inc.								
SEAWALL RE	PAIR			e-Oceanview Road						•
The second control of the control of		Ocean View, NJ 08230								
CONTINUED		B. BID SECURITY (TYPE AND AMOUNT)		B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		
	ONTRACT ITE		BID BOND 20% C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED	
A.	B.	C.	YES		C. AMENDINEN	C. AMENDIMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED		ACKNOWLEDGED
ITEM	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT E. ESTIMATED		E. ESTIMATED		D. UNIT	E. ESTIMATED
NO.	QUANTITY	Otti	PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT
BASE BID	2.0.		11102		TIGOL	711100111	 	AMOON	TRICE	AWOUNT
1	1	JOB	LS	\$2,500,000.00						
2	3,371	S.Y.	\$270.00	\$910,170.00		, , , , , , , , , , , , , , , , , , , ,				
3	1,850	TON	\$200.00	\$370,000.00						
4	8,290	TON	\$155.00	\$1,284,950.00						
5	1	JOB	LS	\$50,000.00						
TOTAL EST.			·	\$5,115,120.00						
BASE BID										
AMOUNT:							*			
			1		1					
										· · · · · · · · · · · · · · · · · · ·
										- 100 -
<u> </u>										